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0.035 0.981 1.663 0.003
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4/2 0,1s A&Y
Mittel

A1    A2    A3      ∆
0.009 1.378 0.274 0.01
A1    A2    A3      ∆

0.025 1.164 0.252 0.007
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Mittel

A1    A2    A3      ∆
0.036 1.248 0.063 0.01
A1    A2    A3      ∆

0.038 1.308 0.066 0.008
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4/2 0,1s A&Y
Mittel

A1    A2    A3      ∆
0.037 0.991 1.457 0.003
A1    A2    A3      ∆

0.035 0.981 1.663 0.003
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A1    A2    A3      ∆
0.009 1.378 0.274 0.01
A1    A2    A3      ∆

0.025 1.164 0.252 0.007
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Mittel

A1    A2    A3      ∆
0.036 1.248 0.063 0.01
A1    A2    A3      ∆

0.038 1.308 0.066 0.008
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0.035 0.981 1.663 0.003
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0.009 1.378 0.274 0.01
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0.025 1.164 0.252 0.007
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